
Encuentra los romanos intrusos, aquellos en que no tienen igualdades correctas.

XCIV = 94 CXXIV = 125

CDLXIII = 463 LXXIX = 79

CLIII = 108 CCLX = 260

MLIV = 1.054 DLLLXVI = 856

DCVII = 607 XCV = 99



Encuentra los romanos intrusos, aquellos en que no tienen igualdades correctas.

MMXVIII = 2.038 DCCLI = 751

DCXLIX = 644 MMMVII = 3.007

DCCXXV = 825 MCCXL = 1.260

LXXXIII = 83 CLXIX = 169

CMVI = 406 DXXIV = 524



Encuentra los romanos intrusos, aquellos en que no tienen igualdades correctas.

DCXVIII = 518 XXIV = 24

MMCII = 2.102 CMXV = 715

LXVII = 67 CCCXXVX = 329

MMLXXXIV = 2.086 DCCXXVI = 726

MMMDII = 3.502 CDLIX= 439
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